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Topic:- Child Development & Pedagogy (CDP)

1) A person’s IQ is initially represented by ratio of a person’s age divided by his/her age. / foreft safeg &1 ﬁ afsr
B TE A ITBL g A fywnfira 3w aafed #t AT F 3UTd F AT AT B

1. Real Intentional, Stereotyping / CIESIEED STI%, wiRarersfi
2. Chronological, Neurological/ WTW, Aafas

3. Chronological, Mental/ Ww, RS

4. Mental, Chronological/ ORI, Wﬂw&lﬁ

Correct Answer :-

» Mental, Chronological/ qﬂm, W&ﬁ?

2) Which genetic problem is associated with heart defects? / §Gd fapR & 91y o It Hﬁaﬁﬁ? HHAT %?
1. Turner’s syndrome / Eﬁ?ﬁl@ﬂ

2. Down’s syndrome / Wm@ﬂ

3. Autism / 3fffeoH

4. ADHD / TSITTS!

Correct Answer :-

« Down’s syndrome / SIS ﬁl@'ﬁ

3) Which of the following age ranges is considered early childhood? / fuafafaa# 4 fea 3y a1 Y R I=9= /T ST %?
1.7t011/79 11

2.Birth to 2/ SH 2

3.31012/39 12

4210 6/29 6

Correct Answer :-
2t 6/296

4) The pain of a shoe bite from a new pair of shoes currently being worn is an example of / FaaE o ‘Tflef Sl ?% Fﬁ 3l Th T{ \'rﬁﬂ J Eﬁ &
HIeA BT &6 THPT TP IS &:

1. Long-term memory/aﬁ-mm
2. Episodic memory /mgﬂﬁf

3. Immediate memory /Wgﬂﬁ
4. Sensory memory/ﬂ%ﬂﬂﬁf

Correct Answer :-


Lenovo
Stamp

Lenovo
Stamp


« Immediate memory /WF{%

5) Ecological System theory, originally formulated by Urie bronfenbrenner, specifies four types of nested environmental systems that are

also called .l Rigia, St g U A I BT gRT IR {501 741 B, IR UPR & ARS
vaferor yonfera) @) Sy #war & g it g1 wTaT 1

1. Influential conceptualization/ TGRS SR
2. Human development/ HIFd fawr

3. Human ecology/ HIFd BUREIGED]

4. Intellectual development/ e e

Correct Answer :-

» Human ecology/ HIFd uRfRufaet

6) Re-directing energy or aggressive goals toward new aims, often artistic, intellectual or cultural goals is called . / T aga Bt

3R Sl a1 I IMPTHS &0} B T: PRI 1, N R $ae®, Sfes AuRghe asasae,_ sgadiel
1. “Sublimation / G?IWUT

2. Compensation / IRCRE

3. Affiliation / HeYU=

4. Rationalization / W
Correct Answer :-

« " Sublimation /E?:IT—ﬂW

7) Which of the following agencies is responsible for preparing curriculum framework for school education in India? Fafafeadd

DI A GOl HIRT H Tt 14T F T UTousH SURET R R & 1910 Savardl 82
1. NCERT

2. NEUPA

3.NCTE

4.RCI

Correct Answer :-

« NCERT

8) Law of Readiness highlights the need of before learning. / dedRdl BT fraH, Sifermy @'Tﬁg L4
TITIH T IR ThTRT STerai 3 |

1. Experience / 3JHd

2. Reinforcement / W
3. Practice / 3{¥TH

4. Maturation / gRuesdr

Correct Answer :-

. Maturation / ORT&dI



9) What is the ‘magic number’ according to Miller’s theory on chunking? / HT R R & fRrgia & AR ARTS Fa | %?
1.2 (+/-3)

2.9 (+-1)

3.5(+-2)

4.7 (+/-2)

Correct Answer :-

o 7(+/-2)

10) What type of Gardner’s multiple intelligences is used during a dance performance? / T pPrais aTF'T, MER & FPATPR & 98
FSTT BT UGN foha oirem 82

1. Naturalistic intelligence /Fﬂ?ﬁﬁﬁ §@
2. Intrapersonal intelligence / SRTaTfFID @'@
3. Linguistic intelligence / Wﬁ@@

4. Bodily-kinesthetic intelligence / IRIR&-Tfawiad! G

Correct Answer :-

« Bodily-kinesthetic intelligence / IRIR&G-Tfadde S

11) What do individuals scoring highly on neuroticism experience? /HTg'lﬂ'lT @m 3JHa o, aafet o1 Taifas 3JHa garg?
1. Uncontrollable happiness/ AT g

2. Mixed emotions/ Tf3d H1d

3. High stress and anxiety/ 3= d-ld 3R YSRTET

4. Positivity/ HHRIHD T

Correct Answer :-

» High stress and anxiety/ 3= d-ld 3R LENER

12) As a teacher, what is the best way to help students in a problematic situation? / b ﬂT&‘ﬁ’T ko) ﬁ, IR fRUfd A o= &t Heg
P BT IR ST ANBT FT 82

1. By reward / 319 &R

2. By punishment /&S B

3. By providing solution / HHIYTT Uqld TR

4. By giving similar type of problem to solve / gdl FH & T S THR B AT ThR

Correct Answer :-

» By giving similar type of problem to solve / gdl FA & e 2t THR B AT SHR

13) Children start experiencing peer group influence by around the age of: / EEGERICR 9 31y J mw YHTG BT SJHT BT
Y& P CA &

1. Five years / Uf9 CL
2. Four years / IR CL
3. Three years / d T

4. Six years / 9: CL



Correct Answer :-

» Three years / G

14) Which of the following is not a characteristic of working memory? / fFrafafaa d @ @ e '\qiﬁf (ilﬁ»‘rl m P fa=iwar qﬁ
&

1. It involves rehearsal / 9% Redd =i g1

2. It is permanent / Ig wnﬁ%

3. Itis active/q_s'ﬂﬁ')_qgl

4. It involves manipulation / Bt \_rh?f-?h?f AR

Correct Answer :-

« Itis permanent / T8 MBI

15) Which of the following best describes ‘learning’? / fFrafafaa d & H19-91 'R 1 e 33T auiq Hedr %?

1. The process of acquiring knowledge and skills through listening to the teacher. / Rerew & ﬁ'_‘T'l'f F HTEH J I 3R DI YT FRA B s
2. The process of gaining facts and information through rote memorization. / J& JERUI P A1 T ql 3R TSR U B Bl Ui |

3. The process of gathering information by reading and writing. / ua?r IR foraA & (NSRRI ELl CaskatiEil

4. The process of acquiring knowledge, skills and dispositions through our thoughts, experiences, study, senses and sharing./ 3 fag ? @Iﬂﬁ‘-ﬁﬁ 3G,
3ot SR FreHRur & AIeH 1, DIV IR FerH Ui o3 31 ufshan

Correct Answer :-

o The process of acquiring knowledge, skills and dispositions through our thoughts, experiences, study, senses and sharing./ 30 oY 3133-@ HEYH,
3Rl R TIETGHRUI 3 W @ I, I SR FITCH U B @ bt

16) Which of the following stages of psychosocial development do not occur in childhood? /tFﬁailTﬁ?ﬁ faem & frafafaa ol ¥ ST ar
TR g9 A T g 82

1. Autonomy vs. shame / TITRIAT &9 T
2. Trust vs. mistrust / YT S99 3ifayr
3. Intimacy vs. isolation / 3{dITAT SHTH 3feTd

4. Initiative vs. guilt / TGS STH S(ORTY SYf

Correct Answer :-
« Intimacy vs. isolation / 3{dITdT S e TId

17) Which of the following embodies the idea that individuals learn through experience? / fFrafafaa & & &9 a1 fer 1Icf T adar % od
STUT F AN | e WA 32

1. Universality / gdameHd
2. Nature / 1;@7—%

3. Nurture / TTY0T

4. Determinism / fafdare

Correct Answer :-

« Nurture / GSOT

18) Physical development in the child slows down by the age range of: / ¥= # IRR® faer g 3g At o <t _Eﬁ SITdT %:



1. 6-9 years / 6-9 CL
2. 3-4 years / 3-4 T8
3. 5-6 years / 5-6 CL

4. 4-5 years / 4-5 CL

Correct Answer :-

» 5-6 years/5-6 CL

19) Language of word is not necessary for: / RTSG} BT UTHT 3P Qg STIRGP 1 &
1. Conceptual thinking / Fie fefa

2. Perceptual thinking / YRUTHD i

3. Imaginative thinking | BRI fefaq

4. Associative thinking / Wﬁlﬂ:{

Correct Answer :-

« Imaginative thinking / Hea-TRITd faq

20) While Piaget gave importance to biological factors governing development, Vygotsky ascribed importance to MicicEiccankal

i #39 91d Sifde PRSI %) e fou, safe agmee! A 59 Hed $T HRU Ia[T:
1. Thinking process / feia Ufesan

2. Social interaction / FTHIfTE YT

3. Physical factors / Hifd® HRE

4. Environmental factors / TaIaRUN HRE

Correct Answer :-

« Social interaction / TSI HUDH

21) Students from underprivileged background are facing learning difficulty. Most likely factor that is affecting them is -/ dfera qg'ﬁ[ﬁl’ ¥ ol

@1 WREA § BISATE BT T BT U Y61 81 Had WHIad SRS Wil 38 qUIfad HIET2 a8 -
1. Individual needs/ SATERTTTA STRIDTY

2. Lack of sleep/ Hiq @t Ha

3. Stress/ d-1d

4. Cognitive capabilities/ GITHTEH® &

Correct Answer :-

« Individual needs/ SfRRTA SfTa=FehdTd

22) MBTUI’s approach for a personality assessmentis ./ HfwTa W ¥ m @ﬁaﬂé CafSbcal . %I
1. Perception/ YRRUIT

2. Projective/ gad

3. Structured/ IR

4. Judging/ 3T

Correct Answer :-

« Structured/ TG



23) The theory of Constructivism was propounded by . /ﬁ'ﬂfm Cal ﬁ’l@'l?[ - F aRT mﬁﬂ o T T
1. Erikson / Qﬁ_cﬁl:f

2. Bandura / E:J@T[

3. Vygotsky / ITSTICD!

4. Kohlberg /W

Correct Answer :-

» Vygotsky / W

24) When new ideas are incorporated into existing ideas they are known as WASCKELY ICEIRED] ﬁw oAt o wnfire feam siman %, ar
K FEUAIAATACIG

1. Accommodation / 3{JH AT
2. Replication / mﬁw

3. Assimilation / STHITIH T
4. Reproduction / §T=dlad
Correct Answer :-

o Assimilation / STHIATIDH T

25) Using our phones while driving is an example of what kind of attention? /Eﬁﬁ'ﬂ P THYT g‘qﬁ B BT SYTNT AT [T YHR & @
T TS IQTEX 3?2

1. Signal attention / Rra 3r@em
2. Diffuse attention / ﬁW AT
3. Selective attention / IIAIHD SAYTH

4. Divided attention / fauad 3faem

Correct Answer :-

« Divided attention / fqya s@em

26) students with learning disabilities have significant in a school related area such as reading, writing,

reasoning, listening or math’s. / IRaq &t SHEHAT CIREGIEK:D] Ipd q Fafa &h ﬁﬁ Yel, ﬁ‘l@qT, ab CXEIR
A AwgEyqui gt e

1. Grasping / SHg

2. Knowledge / STHBRI

3. Problems / JHEITY

4. Difficulties / PfSATLAT

Correct Answer :-

« Difficulties /W@T

27) Which of the following approaches to motivation does not rely on an intrinsic source? / 3fARoT %ﬁ’l‘({ ﬁ'ﬁﬁ-@ﬁﬁﬁaﬁqm
HI0 TE sriafke da R R T drarg?

1. Cognitive / TS

2. Humanist'ic/'ﬁl'l:laa'l—cﬁ



3. Behavioural / SAGGRATG!
4. Socio-cultural /W-m

Correct Answer :-

« Behavioural /WRHEOT

28) Failure in performance is an essential part of Child learning process because: /'ﬂﬂ"x’hﬁ' P dl, T $ R B trﬁ:‘maﬂw 3iferard
e g wife:

1. it helps in developing self awareness. / dg 3H SIFRe T (A RId H ﬁmwél
2. it prepares children for unpleasant experiences. / dg a?cﬁa’ff@ &ﬁmﬁﬁsﬁﬂ TR WT%I
3. it helps student in re examination. / Jg Y uﬁ&nﬁmﬁmm%l

4. it empowers children to understand that taking risks, big or small, is crucial in their learning journey. / Ig = a%mﬁésﬁmwaaw % f&
ST, ST 41 BT A1, 399 S & Uy & Heayu 8

Correct Answer :-

« it empowers children to understand that taking risks, big or small, is crucial in their learning journey. / I8 = ﬁm%mwm % f&
S, ST 41 BIeT A1, 399 ST & Uy & Feayul 81

29) ‘Laura can design a spreadsheet’. This statement is an indicator of which attribute of aptitude test? / ‘?I'\I'?T, T e %Trl'l?ﬂ' BT Pl %I'
g By MR tfieror 3 {5y favar &1 @e 82

1. Clerical thinking/ BTIRITT (e &Kiaa
2. Logical thinking/?féfﬁ
3. Organisational thinking/ T3 [EGE

4. Numerical thinking/ 3 frid

Correct Answer :-

« Logical thinking/ﬁ&‘ﬂ%

30) Which of these could be a cause for GDD?

/TR A I S8} & T T SRUI g qPar g2

1. Childhood infection / U T HehHUT

2. Childhood obesity / ST 1 HieTdT

3. Strict parenting / T TRART

4. Excessive intake of sugar and additives/ T 3R ufsfesy @1 i Ja=

Correct Answer :-

« Childhood infection / ST &1 HshHUT

Topic:- General Hindi (L1GH)

1) HTE F W FIT & HWR TP RfSar 7 31 I A1 F=9 iR IWST 957 T ST 98 4 | FafSan &1 aaf sra-wma e $3d | JaR ST T wad

P F A Uga o1 3R et 3R RafSar 91 o) a5t do1 w1 3wt @A | 4 Tl B 1 Ao Fan gt frerdn, g SR s @Y of g 7 weedt| gt

¥ fod ® a¥g-aRE & TaTd 364 | HITaT ST g2 IS fpat 93 gl iy 31 & giite 3 e oS 817 7= & R $ FRwail 9= of | 9 faa

gaﬁmﬁa@g%mgaﬁ%qﬁw T 3T B TR F BTE-HT A Fd A 3R 7 919 oft B ygr-Roraq V1 S = MU & & Hara-wiard B 3uA fea
aTe I

IR TR B UgH -1 I 7T U= BT Sk T3¢
URA: BT eg FTE?



1. facz=m
2. dEH

3. dgd
4, 3T

Correct Answer :-

2) $IA P W P P SN TS FATSA1 7 373 T 1 $2a 3R SHST 9671 WA G 99 A F Fifgar 1 agt sa-od 3@ Hd | 9 i1 St werdd

P F AHA Ugd o1 3R et 3R fafsar -1 &) a5t 3a1 | 37w! @A & ST a=il &Y 1 HieH a1 9ol firedn, g 3R saet &Y of o 7 Tgedt | gt

¥ foa & TRe-TRE F TaTd 354 | e FA1 B 312 fhra 73 g1 v 1 F g S fham 31 g Tl F W e o= o3 @ 4 el

gaﬁmﬁa&g%ayaﬁéqﬁml 7 3T B TR & B-HI A Bd A 3R 7 19 ot B yga-fora F1 S = MU & & Wara-oiard B 3uA fed
GEG) I

SUYd T B USHR -1 I T YR BT Sk garzal
WA Hie e e ®=iw g 82

1. FTHIBE TI

2. SHaR Bl

3. Uefi &1

4. 94 BT

Correct Answer :-
. gt

3) $A P W P S SHUR T ffsar = o Ay 41 F3a R It 951 T4 g1 99 & ¥ RIS o1 987 3ma-wird &1 $d | 9 g1 i werd

P F AHA Ugd o1 3R T 3R fafsar Gt o) 95t 3a1 It | 37! WA | S awil &1 1 HIeH FaT 9ol fired, g 3R Saat & of o = Tgelt | gt

¥ foa ® a¥E-aRE & HaTd S6d | HITaT AT g2 S [Pt 73 g fpwy 1 & gl 3% fpa oS 811 7=l & W $4 fAwpdil = ofS | 9 frpaa

gaﬁmﬁa&g%ayaﬁéqﬁml T 3T B TR P BIH-BTS I B At 3R T 919 o1 Bl Tgn-Rrgs A1 S 9= 3o & & ware-s1a19 o o fea
aget I

SUYed T B USHR - I T YR BT Si¥ g1zt
T A & e A o waTer Iad A2

1. TH YD Tl

2. g8 Y 33T |

3. T d Y o |

4. 3fS fpa sg g

Correct Answer :-

. 373 fbeH SIS BN

4) A F W FHT F SR T RIEAr A 3R Ry A1 Hra iR 30! a5+ wmr 41 73 o A Rifgar &Y a6t sma-om 31 w3a | ga 91 ifd werd

HI- F A ugT 3R RreT ok Rifear S #) agT So1 urd | 3w @A F 141 sl B 7 A T 9w frerr, g ok e 31 o gy T vedt | gl

¥ fa & aRE-RE S AT o | WAT a1 g2 IR fpan 73 g T T F g 3 e o 1 T F R HA Fwadie 9= o I F Fwa

gwm%m%m?aﬁ%qﬁw T 3T B TR F HTE-HT A Fd A SR 7 919 f ) vgr-Rram F1 S = M A HaTa-waTd R v fea
Tt & faan I

IUYE T B UgHR A IR T F BT SR TS
w=: & @ B gy T 37 vafaard w6 72

1.9R

2.9

3. &R

4.q4



Correct Answer :-

5) $RA F W BT F HWR TP RIfgar A 33 Ry A1 Ha 3R IS 981 a1 1 98 = A Rifsan 1 agt sma-wra 3@ & | WaR g 3@ gad
HIT & T UgT o SR freT ok Rifdar S &t a8f So1 ura | 397! @A A S a=il Y =1 ATqw Fan we frean, g ok wradt @Y o gy 7 et o
¥ foT A TRe-IRE & TaTd I54 | YA FHAT E2 312 fpe 73 g1 vy {1 F g 3% fpaA oi g o=l & R 4 i o= oid ¥ &4 il
31 STdI BT SaTd 3 9TAT BIS 81 AT| 7 W B HR & HH-PTF § FAd At 3R 7 19 57 B ygA-forga 1 41 7= 3o €t § qard—sare H3d v fad
BT aee § faar F3d

IR TR B UgH -1 I 7T U= BT Sk T3¢

TR STgel § ofF fraer g 82

1. RIS

2. MEGTD

3. SIIfdgEs

4. YA

Correct Answer :-

6) $RA F W BT F HWR TP RIfgar A 33 2y A1 Hza 3R IS 951 a1 1 98 = A Rifsan 1 agt sma-wra 3@ wd | WaR G 3 gad

HIE & T UgT Td SR freT ok Rfdan S &t aef So1 ura | 397! @A A S a=il Y =1 ATqw Fan Ao frean, g ok wradt @Y o gu 7 et S

¥ fod ® a¥g-aRE & TaTd 354 | HITAT ST g2 IS ot 93 gl ey 31 & gty 3W e oS 8172 7= & R $4 Awdi 9= of | 9 faa

gaﬁmﬁa@g%mgaﬁ%qﬁw T 3T B TR P BTE-HT A Fd A 3R 7 909 oft B ygr-Roraq V1 g4 7= MU & & Hara-ward B 3uA fea
G| I

IUYad TR BT UGHR A4 T T YR BT Sk a1l
U= TIget B frad pead g

1. UIRId B

2 RFIIY

3. Ugi-foram @

4. QoTI-UT3 H’A o

Correct Answer :-

. UgA-fere

7) $E P WP & FR & A3 A 3fS AT A1 3@ 3R Iua 761 T g1 99 o A FRifdan o1 a8t emd-oird S wed | gy A1 off | werd
P F WHA Ugd o1 3R et 3R fafsar 1 &) 98t 3a1 | 37! WA | ST a=il &Y 1 AieH Fa1 9ol fireen, g 3R saet &Y of o = Tgedt | Gt
¥ foa & TRe-IRE F FaTd I54 | Ten Fa1 g S fhraw 2 g1 o 1 F g S fham 31 g Tl W e = o @ i ey
31 STdI T 9aTd 3 9Ta1 BIS 81 ATI 7 W B 1R & S-S A FAd At 3T T 919 o B ugA-foma F1 41 7= 3o €t ¥ Yara—are $3& o fod
BT e § far F3d

ITYT TR F1 UgH -1 I 7T ¥R BT Sk qa15¢1

W: STt e UTeT BT e 87

1. G&pd HINT

2. 3faeft Yo

3. 3&T YT

4, ST HIwT

Correct Answer :-

o3RG HTHT



8) PIA P W HIT » S Tw RIS 7 3iS AT A1 F1a 3R IS 751 [T g1 g9 &1 A FRIfSar Y g7 Sird—<ira ¢@1 Hd | v g1 3ifd Aera

P F AR UgT o1 3R et 3R fafsar 41 &) a5t da1 | 37w! WA | I Tl &Y 1 Are| a1 9ol e, g 3R saet @Y o o 7 weedt| Gt

%ﬁﬁﬁmm%mmlnﬁw%m@mw@ﬁaﬁa@gﬁvmw%ﬁﬁ?wmﬁa@ﬁﬁoﬁﬁ%wﬁﬁﬁﬁ T I A A Fpa

gaﬁmﬁa&;«’%a?aﬂéqﬁmlqmaﬁw%m-mﬁﬁmﬁeﬁ?qmﬁﬁﬁmﬁ@%ﬁlaﬁaﬁmiﬁﬁw-mwmﬁﬂ
ae I

IuYed T B USHR -1 IR T YR BT Sk qars¢l
U 9 ey HaTer-oaTe S A2

1. STEE

2. g A H

3. 3T 9

4. fafsara

Correct Answer :-

. U EH

9) HIA P W B P HW TP RAFFAT 7 313 AT &1 Pzra R IWHT 7671 W1 G141 75 a1 | FafSar ) a6T 3ma-oima I = | Jay 1 3 A

HI- F A= ugT e 3R et ok Rifear S #) agT do1 urd | 3w @A F g1 wrl B 7 A T w9 frer, go ok e 31 o gy T vedt | gl

¥ foa ® a¥E-RE S AT o | TaT 1 g2 IS fFaw 73 g 5w T F g 3 fFad o 1 T F R HA Fwadi 9= o I F

§aﬁm%m%m§wﬁ'{qﬁm T 3T B TR F HTE-HT A Fd A SR 7 919 ft ) vgr-Rreq F1 S = o ) A HaTa-waTe R v ia
Tt & faan I

UG TR Y T 1 T T U BT IR I
U: ST Y forad Gad e A

1. IH-2Nhd HA A

2. A

3. A A Y

4. HH-4Y Y

Correct Answer :-

. FE-HYY

10) $IMA F R BT & FWR TF RIEar A o2 Ry &1 F=19 3R 30} 951 zaman -l 9 w1 & Rifgar ot agt sma-wima 3w w3 | ga o o gea

FI- F A ugT e 3R et ok Rifear S #) aT do1 urd | I @A F g1 wrl B 7 A war 9w frer, go ok e 31 o gy T vedt | gl

¥ foa ® a¥e-RE S AT o | TaT 1 2 IS fpa 73 7 i T F g 3 P o 1 T F R HA Fwdi 9= o I F

gaﬁm%m%m?aﬁ%qﬁm T 3T B TR F HTH-HT A FRid A SR 7 919 f ) vgr-Rreq F1 S = o A HaTa-waTe R v ea
Tt & faan I

UG TR Y T 12 T T U BT I« I
T: 33 & a1 g ATt offa 3

1. Haq I

2. Had THdt

3. Haq fafgar

4. SWRIeT F+t

Correct Answer :-

« IWiad gt

11) $IA P W BIE F FWR TF RASAT A o2 3T A1 F=19 3R IS 751 a1 31 98 o1 | Rifgar o1 agt sma-wrd e H3a | g ol o gaa

PR F AT UgT o1 3R Rt 3R Rifdar 991 &) a5t do1 w1 It A | Y Tl B 1 Ao Fan gt e, g ok s Y o g 7 weedt| gt

P foe # TRE-XE S HaTel Iod | TRIAT ST 2 (S fheam a2 g2 i 11 & gl I7# fraq o2 gl 7= & W e o= o2 @ 4 e

gmﬁg%m?aﬁ%qﬁw T I B TR F PH-PTS A Fd At 3R 7 719 o B vgr-fRre V1 34 9= 3 & & qara-wiare 3 oA Ra
I

IUYa TR BT UGHR A4 I T YR BT Ik a1zl



UR: HRE & W HIE & U Fafsar =« far ¥
1. Mafeu

2. fagtfeu 3

3. 38 AW A

4. JUER fau Y|

Correct Answer :-

. 3 faudl

12) $IA P RN BT F FWR TF REar A o2 Ry &1 F=19 3R 30! 7571 zamar -l 9 s & Rifgar ot agt sma-wird 3@ w3 | g ol o geaa
FIT & A UgT Wd SR RreT ok Rifdar Y o1 981 So1 urd | 36! A & ST gl &Y =1 WTqy a1 7w frerdn, g ofik At &Y o gy 7 et o
P fod o TRe-TRe & Tard I5d | G ST gR? IS fHaq 98 g v &1 & gl 37 faq 31 Bl 7=l F W $ Fpail? 7= 31 @ 9 Fpaa
3 9Tdl BT a1 37 aTdl BIS 781 AT T 3FHT B TR P S-S Pad A 3R 7 979 o 7Y vgr-forea V1 341 9= 3 & & Gara-wiare o3 oA a
P e § far Fva A

IU TR B UgHR -1 I 7T YR BT Ik a1zl

UR: G DI T§1 BT T 9 412

1. 9l

2. GMHT

3. UHT

4. JHT

Correct Answer :-

13) $IMA P W BT & FW TS RSar A oS 3 &1 F=19 3R 30! 7571 ama gl 98 s & Rifgar ot agt sma-wird e w3 | g ol o geaa
HI+ F A ugT w1 3R et ofR Rifear S #1 9T So1 urd | I 3@ F Il sl Y 71 HIH T W e, g SR et 31 o gy T vedt | gl
¥ foa A RE-IRE F WaTd I64 | TR FA1 F2 31 e 92 iz fv W g1 S fhan SR Ei o= & W B4 Fdi? 9= o3 / S i
ST STdl 1 STaTd 3 9761 BIS T8l AT| 7 3T B 1R & HH-STo & Bad.A 3R 7 919 it ) U o= 3 1 41 7= 3o €t § qare—ware $ed o= fod
P e § far F3d A

IU TR B UgHR 14 I 7T YR BT Sk a1zl

U: HRIG 3R LT Y8 S64 & Fgl o A2

1. B9GP I

2. T AP T

3. BAW
4. FPAWR

Correct Answer :-

. PHIE B I

14) HIA P R BIE & FWR TF [RASAT A o2 7Y A1 F=19 3R IS 751 7am1 Gl 98 o4 | Rifgar o1 agt sma-wra e H3d | g gl S vaa
PR F T UgT o1 3R Rt 3R RifSar 9 o) a5t do1 w1 It A | Y a=l Y ¥ Ao Fan gt e, g ok s #Y o g 7 weedt| Gt
¥ foT A TRe-IRE F TaTd I5 | AT FHT EI2 312 fpe 72 g1 vy 1 F g1 3% fpan oi g1 o=l & R & fRpati? o= oid ¥ 9 et
g 9T BT STaTq 31 T BIS 781 4T 7T SMFT H TR P HH-So & Had A 3R 7 I1g o F) ve-frea V1 341 9= 3md €1 & qara-wiare &3 oA iia
I awee § faar F3d

IR TR D1 UGH -1 I 7Y U= BT Sk T3¢

U=H: $R9 fHaer waigar 82

1. QPR BT

2. 350

3. P H



4. SR BT

Correct Answer :-

15) $I@ H W PIE S SR TP RFA A 35 3T 31 Fra o 3w g6 zamn 1 98 o A Rifdar Y agt omd-smd &1 a1 Jay JH7 off e 7erd
P F AHA UgT o1 3R et 3R fafsar 1 &) 98t 3a1 | 37! WA | ST a=il &Y ¥ Hied Fa1 9ol firedn, g 3R sraet &Y of o = wgedt | gt
¥ foa & TRe-IRE F TaTd I54 | THe FA1 B S fraw 2 g1 v 1 F gl S fham 31 g Tl & W e = o3 @ H4 ey
31 STd1 1 9aTd 3 9TA1 BIS 81 AT| 7 W B IR & S-S A FAd At 3T 7 I1g 51 B ygA-forea F1 41 7= 3o €t ¥ qara—are $3d o= fod
PI e § far Fd A

ITYT TR BT UgHR -1 ID 7T Y= BT Sk qa15¢1

W ‘HaTd-oare’ H S 91 W6 82

1. 4 ™

2. AT I

3. ASY T

4, SgdIfg T ™
Correct Answer :-
. G5 9uy

16) T T1Y 9 9, TG W19 T A
few qafe dife), g wa s

IRw urh e, fag o e
I Y Sy, W, W, 947 1

ST UL Bl UgH A IR WM 91 IR P Sk qa1s¢|
W e 2eg & Fm d 72

1. Ryes &)

2. YRE BT T BT

3. R 1

4. Rrem &1 9% Frd H1

Correct Answer :-

. R s

17) U W19 99 98, T W19 G994

I ars AR, o wa i

IRw Ui e, fag wreh W A=)
T 7T 7 SHa, Wi, WY, T47 1

SUYe UEi B TgHR -1H T ST 9T U 1 Sk arsel
R qafe &1 o wgar g2

1. I8

2.4

3.51§

4. 91

Correct Answer :-



18) T 919 99 9Y, 99 918 99 @[ |
v afe AR, oo wa s

IRw urh e, fag o W g
9Tt T 7 SHeR, T, Ty, T4 1

ST UL Bl TP 1 ID WM 91 IR $T Ik Tarsg|
URH: G BT qgigard! o T8l 82

LgAd

2.pgH

3. fag

4.99

Correct Answer :-

19) T WY 99 9, T WY G 94|

IHT gafs AR, o wa i

IR U e, g o v A=)
T 7T 7 SHay, Hiel, A, 947 1

SUded THi B TgHR -4 T o1 91 U 61 Sk arsel
R U Uil T 82

1. GRS

2. 281

3.9Wy

4. 9IS

Correct Answer :-

20) T 1Y 99 98, T9 WY 99 9191
few qafe i), ga wa sl

IRw urh T, fag ol we
i 7T A e, Wi, W, g4 I

IU UL Bl UgHR A YD W 91d URA $T Sk Ta1sy|
T YR ufeRTa e gy e 82

1.3e9

2. FEHCY

3. Ahary

4. PRGN

Correct Answer :-

21) TS 919 99 9, T WY 9 9141
v et SR, v wa s

IRw Ui e, fag o W A
T 7T 7 SHa, Hiel, A, T47 1

ITT Ui B USHR A1 IR W a1 WA HT I« Ta1g¢|



U=A: YT &7 qaigar o 82
1.%d
2.7k

3. 99
4, Uit

Correct Answer :-

22) T 919 99 94, 99 918 99 W)
IeH gafe AR, o wa i

Iew= urit e, fag wreht e g
it e S e, W, g, g4 1

IuYad Ui B UgR 9 U 1A 91 YR B Ik a1zl
W= o B @ - il o waiaardt 8 @2

1. ggar

2. QIRIGHT

3. gl

4, Tifdd®

Correct Answer :-

23) TP 918 ¥9 99, 99 918 g9 WG|
IeHT gars AR, wa wa s

IRw Ui e, fag o e g
U 7T 7 SHa, Hiel, A, T4 1

ST TEi B TgHR A1 T ST a1 U BT Sei¥ qa1s¢l
;g urht e g ufda & uri o aref @2

1. gfasT e

2. U O g

3. UM gE o

4. Y

Correct Answer :-

. UfasT

24) TS 1Y 99 9L, T 1Y GG 9191
IeHa gafe Hife, o wa i

IRw Ut e, fag o e A=)
I 7T 7 SHa, Wi, W, 947 1

Iuded UHi B TgR -1 U 914 91 U 1 Sk qa13¢l
T T WY H 9, T A T S0 F B A AGPR 32

1. JHD

2. aehlfart

3. 3UHT



4, 3IIUN

Correct Answer :-

25) T T1Y 9 9, 99 919 G A7
fewa qafe dife), g wa s

IRw urh e, fag ol we g
I Y Sy, W, Wy, 947 1

IUY Ui Bl UgH A IR WM 91 IR $T Sk ga1s¢|
URA: IRE Ut i, g urh we g ufe § S 1 e 82
1. XY

2. JHd

3. U™

4. I&M

Correct Answer :-

26) TS 1Y 99 9L, T 1Y I 14|
IeH gafe AR, o wa i

I urt A, fag o e g
O Y S SHa, W, W, g4 1

Iuded Ui B TgR - U 914 9Tet U B Si¥ a13¢l
;3T Vg R A S R?

1. fag=h

2. dHH

3. dvad

4. QRS

Correct Answer :-

27) T 919 99 99, 99 919 99 W)
Iew qafe AR, o wa i

Ifew= urht e, fag ot e g
it Y S e, W, 9, g4 1

ITIF U B UgHR 1 I 9 a1 YR HT @k a1zt
T T W18 He 6, Fa wie " 9 ufd a1 vmard @2

1. 9R ST T 1Y B3 13T

2. BT I T 51 A1fgTl

3. T 9o H U g1 1 AT M|

4. B3 i BT 761 1 F1fRT

Correct Answer :-

. U% 99 H T &1 B 1 A1



28) T 919 99 9Y, 99 918 99 @/ |
e afe R, Ta wa e

IRw urh e, fag o W g
9Tt T 7 SHeR, T, Ty, T4 1

ST UL Bl TP 1 ID WM 91 IR $T Ik Tarsg|
W U Xeg W i T R

1. gfefT

2. TlifeiT

3. TR AP To

4, 4G feiTT

Correct Answer :-

29) T WY 99 9L, T WY GG 94|

IeHT gafs AR, o wa i

IR U e, g ol v A=)
T 7T 7 SHay, Hiel, A, 947 1

SUded TUEi B TgHR -4 T o4 91 U 1 Sk arsel
= AP T A A AT e

1. fee

2. TRt

3. TIPS T

4, T4H feimT

Correct Answer :-

30) T& I19 O9 9, 99 18 99 91|
fewa qafe SR, g wa s

IRw urh T, fag ol we
i 7T A e, Wi, W, g4 I

IU UL Bl UgHR A YD W 91d URA $T Sk Ta1sy|
W X ure e ufds & w1 ard e

1. U HRPR 3@ I

2. 099

3. 995 4

4. 099

Correct Answer :-
. TG Y

Topic:- General English(L2GE)

1) Read the poem carefully and answer the question given below:
It is futile to look for rainbows,

In the darkest of the night



As it is fruitless to look for stars-

In the brightness of day light

Whatever needs to be seen

Will be revealed by and by

Just wait patiently for the right moment,

Soon you will be ready to fly

The speaker implies that looking for rainbows in the night is
1. useful

2. pointless

3. enjoyable

4. exciting

Correct Answer :-

* pointless

2) Read the poem carefully and answer the question given below:
It is futile to look for rainbows,

In the darkest of the night

As it is fruitless to look for stars-

In the brightness of day light

Whatever needs to be seen
Will be revealed by and by
Just wait patiently for the right moment,

Soon you will be ready to fly

When the speaker asks the reader to wait, he is suggesting that the reader ought to:
1. Wait for a rainy day to see the rainbow

2. Wait for the seasons to change

3. Wait for a friend to tell him what to do

4. Wait patiently for God to reveal His plan

Correct Answer :-

» Wait patiently for God to reveal His plan

3) Read the poem carefully and answer the question given below:
It is futile to look for rainbows,

In the darkest of the night

As it is fruitless to look for stars-

In the brightness of day light



Whatever needs to be seen
Will be revealed by and by
Just wait patiently for the right moment,

Soon you will be ready to fly

The word that rhyme with wait is:
1. gate

2. right

3. kite

4. bright

Correct Answer :-

4) Read the poem carefully and answer the question given below:
It is futile to look for rainbows,

In the darkest of the night

As it is fruitless to look for stars-

In the brightness of day light

Whatever needs to be seen
Will be revealed by and by
Just wait patiently for the right moment,

Soon you will be ready to fly

The speaker says that is a good quality to have.
1. creativity

2. confidence

3. imagination

4. patience

Correct Answer :-

» patience

5) Read the passage carefully and answer the question given below:
It was 2060. Jessica and James were walking in air. They were in the Black Eye Galaxy.

They had crossed the Andromeda, The Milky way and Whirlpool galaxies before they got here. It was thundering loudly and they heard
weird noises unlike those we hear on planet earth. There was an occasional interstellar vibration and a distant cry; there were sharp noises
which weren’t very pleasant to the ear. They were petrified and were wandering around in search of the space ship they had come in. In
fear, the children floated around in space, looking for some sign of their space ship. As they moved around in zero gravity, they saw some of
the most mysterious looking surfaces and creatures and frightened as they were, they began feeling like a bad dream had come true...would
they reach home or were they to be here forever?

What does the word sharp mean in this passage?

1. High pitched



2. Attentive
3. Pointed

4. Like a knife

Correct Answer :-

« High pitched

6) Read the passage carefully and answer the question given below:

It was 2060. Jessica and James were walking in air. They were in the Black Eye Galaxy.

They had crossed the Andromeda, The Milky way and Whirlpool galaxies before they got here. It was thundering loudly and they heard
weird noises unlike those we hear on planet earth. There was an occasional interstellar vibration and a distant cry; there were sharp noises
which weren’t very pleasant to the ear. They were petrified and were wandering around in search of the space ship they had come in. In
fear, the children floated around in space, looking for some sign of their space ship. As they moved around in zero gravity, they saw some of
the most mysterious looking surfaces and creatures and frightened as they were, they began feeling like a bad dream had come true...would
they reach home or were they to be here forever?

Which Galaxy did Jessica and James find themselves in?
1. The Milky way Galaxy
2. The Whirlpool Galaxy
3. The Black Eye Galaxy

4. The Andromeda Galaxy

Correct Answer :-

* The Black Eye Galaxy

7) Read the passage carefully and answer the question given below:
It was 2060. Jessica and James were walking in air. They were in the Black Eye Galaxy.

They had crossed the Andromeda, The Milky way and Whirlpool galaxies before they got here. It was thundering loudly and they heard
weird noises unlike those we hear on planet earth. There was an occasional interstellar vibration and a distant cry, there were sharp noises
which weren’t very pleasant to the ear. They were petrified and were wandering around in search of the space ship they had come in. In
fear, the children floated around in space, looking for some sign of their space ship. As they moved around in zero gravity, they saw some of
the most mysterious looking surfaces and creatures and frightened as they were, they began feeling like a bad dream had come true...would
they reach home or were they to be here forever?

The above passage is about:
1. Ajourney into the unknown
2. The dream

3. The year 2060

4. Jessica and Jasper’s journey

Correct Answer :-

e Ajourney into the unknown

8) Read the passage carefully and answer the question given below:
It was 2060. Jessica and James were walking in air. They were in the Black Eye Galaxy.

They had crossed the Andromeda, The Milky way and Whirlpool galaxies before they got here. It was thundering loudly and they heard
weird noises unlike those we hear on planet earth. There was an occasional interstellar vibration and a distant cry, there were sharp noises
which weren’t very pleasant to the ear. They were petrified and were wandering around in search of the space ship they had come in. In
fear, the children floated around in space, looking for some sign of their space ship. As they moved around in zero gravity, they saw some of



the most mysterious looking surfaces and creatures and frightened as they were, they began feeling like a bad dream had come true...would
they reach home or were they to be here forever?

What does the word petrified mean?
1. Making a Petri-dish

2. Frightened

3. Excited

4. Elated

Correct Answer :-
o Frightened
9) Choose the appropriate conjunction for the sentence given.

It's very cold today, you should wear a sweater.

1. but
2. s0
3. because

4. though

Correct Answer :-

10) Fill in the blank with the correct option in the given sentence:

The children displayed all their exhibits before their parents on the/Annual Day.
1. enthusiasm

2. enthusiastically

3. enthuse

4. enthusiasts

Correct Answer :-

« enthusiastically

11) Fill in the blanks with the appropriate suffix in the given sentence:
David was a success-- salesman as he was extremely persu--.

1. --ing, --ing

2. --less, --asion

3. --ful, --asive

4, --fully, --ade

Correct Answer :-

o -ful, --asive

12) Which of the following options best combines the given two sentences?

I was disappointed. I was not able to find a suitable life partner.



1. T was disappointed as I was not able to find a suitable life partner.

2. I was disappointed and I was not able to find a suitable life partner.

3. I was disappointed, yet I was not able to find a suitable life partner.

4. As I was disappointed, I was not able to find a suitable life partner.

Correct Answer :-

« I was disappointed as I was not able to find a suitable life partner.

13) Complete the sentence with the suitable pronouns in the given sentence.
__ heard someone knocking at _____ door and wondered who ______ would be.
1. You, our, that

2. They, their, they

3. L, my, it

4. We, our, its

Correct Answer :-

14) Choose appropriate articles for the given sentence:

We reached our destination for ___day, small town at waterfront.

1. a, the, no article required
2. the, no article required, the
3. the, a, the

4. no article required, a, a

Correct Answer :-
e the, a, the

15) Choose the appropriate option that rewrites the given sentence in its passive voice.

The priests will clean the temple after an eclipse.

1. The temple is cleaned by the priests after eclipse.

2. The temple will be cleaned by the priests after an eclipse.
3. The priests will be cleaning the temple after an eclipse.

4. By whom the temple will be cleaned after an eclipse?

Correct Answer :-

» The temple will be cleaned by the priests after an eclipse.

16) Choose the appropriate synonym for the highlighted word in the given sentence.

The naughty boy continued to play so many pranks that everyone agreed that he was incorrigible
1. amendable

2. powerful

3. irreparable



4. arrogant

Correct Answer :-

* irreparable

17) Choose the appropriate tenses to fill in the blanks in the given sentence :
I for Rahul. Do you where he is?

1. will look, knowing

2. am looking, know

3. look, knew

4. Looked, known

Correct Answer :-

» am looking, know

18) Choose the appropriate antonym for the highlighted word in the given sentence.

Hari’s relatives were so gullible that they fell into the trap.
1. guilty

2. susceptible

3. vulnerable

4. street-smart

Correct Answer :-

o street-smart

19) Choose the appropriate prefix to fill in the blank in the given sentence.
She is now a --fledged member of the teaching profession.

1. full--

2. demi--

3. semi--

4. non--

Correct Answer :-
o full--
20) Choose the appropriate prepositions for the given sentence:

Success life depends good health.

1. of, for
2. for, on
3. by, in

4. in, on

Correct Answer :-



21) Choose the option that best explains the highlighted expression:

A: The other day, when the Board was discussing the financial situation of the company, the Chairman moved a resolution to congratulate
the victory of the cricket team sponsored by the company.

B: I know the Chairman. His speech was a red herring.

What does B mean here?

1. The Chairman wanted to enliven the otherwise dull meeting.

2. The chairman was eager to share the news of the victory.

3. The Chairman wanted to escape from the critical scrutiny of company finances.

4. The Chairman is very enthusiastic about the cricket match.

Correct Answer :-

« The Chairman wanted to escape from the critical scrutiny of company finances.
22) Choose the option that best explains the highlighted expression:

It was such a strange story that I could not make head or tail of it.

1. recognize

2. belief

3. understand

4, visualize

Correct Answer :-
* understand

23) Choose the option that best transforms the sentence into its Indirect form:
My sister said, "What about having a party on Sunday?”

1. My sister wanted to have a party on Sunday.

2. My sister suggested to having a party on Sunday.

3. My sister suggested having a party on Sunday.

4. My sister asks how about having a party on Sunday?

Correct Answer :-
o My sister suggested having a party on Sunday.

24) Choose the option that substitutes the given phrase appropriately.

A government by the nobles
1. Oligarchy

2. Anarchy

3. Plutocracy

4. Aristocracy

Correct Answer :-



e Aristocracy

25) Choose the most appropriate article in the given sentence.
Call me if you have question.

1. any

2. the

3.a

4. no article

Correct Answer :-

26) Read the sentence carefully and choose the option that has an error in it:
We had to work in high pressure to meet the deadline.

1. in high pressure

2. to meet the deadline.

3. We had to work

4. No error

Correct Answer :-

 in high pressure

27) Change the given statement to indirect speech.
She said, "I met my friend yesterday.”

1. She said she has met her friend the previous day.

2. She said that she had met her friend the previous day.
3. She said that she met her friend the previous day.

4. She said that she had met her friend yesterday.

Correct Answer :-
» She said that she had met her friend the previous day.

28) Choose the right tag:

Growing children need a lot of vitamins, ?
1. are they

2. do they

3. won't they

4. don't they

Correct Answer :-
e don't they

29) Choose an appropriate modal for the given sentence:



There are so many good books. Which book I buy?
1. cannot

2. might

3. shall

4. may

Correct Answer :-

o shall

30) Fill in the blank with the most appropriate preposition in the given sentence.

Tina travelled all the world when she was young.
1. over

2. across

3. above

4. through

Correct Answer :-

Topic:- Mathematics (MAT)

1) Write the cubic polynomial whose sum of zeros, sum of product of its zeros taken two at a time and product of zeroes respectively are
4,1, and-6:/

98 U1 9gUS Ta1Y, R Il o1 A1, IAF I Bl & UG HIANLUS SR H o1/ FRrdT 10T SR [T Bi 1 YUMHHd HURT: 4, 1 3R -6 8:

L3+ +x—6
2.x3—=1-x2+x+6
3.x3+=1-x2+x+6
4 ¥ —dxt+x—86
Correct Answer :-

¥ =t +x+g

2) If a > 0 and b < 0, then the point P(a,b) lies in: /
gfda > 0Td b < 0§, @l fig P(a,b) fRITE:

1. 2" quadrant / fgca agufar
2. 4th quadrant / Hﬁ?f Hﬁﬂfﬂ
3. 3" quadrant / atg It
4. 15 quadrant / UYH ﬂﬁ?ﬁ?ﬂ
Correct Answer :-

. 4th quadrant / a@af ﬂﬁ?ﬁQT



A figure on a graph sheet covers 10 fully filled squares, 8 half-filled squares, 3 more than half filled squares and 6 less than half-filled
squares. Find the total area. /

TS UTF Xie W TF SATHST 10 W1 B quf 9 F, 8 T Y 31T, 3 T o1 MY A 31 3R 6 T B 1Y F FH WRAT 8| T &TEA [ DY

152 squnits / 15% @t s
L 2 E

2.21sq units/Zlﬁl"'fEWI'sc
3. 23 sq units /23 ?Ffm
4. 17 sq units / 17 ?Ffm

Correct Answer :-

o 17 sq units/ 17 a9 SPIS

4) If the CSA of a solid right circular cylinder of height ‘h’ and radius ‘r’ is one-third of its total surface area, then the correct formula is: /

i v TS qYUT <’ P11 U SR Ad a{d 9@ BT O YT @ d 39P A YSIT &6 d P UH-fagTs 8, 9l UST Wl A &

3.2h=r

4. h=2r

Correct Answer :-
e 2h=r

5) Four equal rectangles with length ‘a’ and breadth ‘b’ are joined to form a bigger rectangle. Denote the area of bigger rectangle as x. /
TS ‘a’ 3R AISTE 'b'aTd IR FH Tl B U S T 3T @1 & oL AT Sai g 1 x & ¥4 § 9 31ad & &7%d P G|

1.x=4ab

5. ab = 4x

3.x=4a+4b

4lx=4+ab

Correct Answer :-
L xX= 4ab

6) What are the additive identity, additive inverse and multiplicative identity of -1? /
-1 & TN dTHS, GRS Ufaed SR UITHS Tl HT 22

1.0,1,1

2.0,1,-1

3.0,-1,-1

4.0,-1,1

Correct Answer :-

e 0,1,1



7) What is the predecessor of 2180107? /
218010 F! gdadf T= fFa-it 22
1.228010

2.218011

3. 218009

4. 218000

Correct Answer :-

e 218009

8) Which property can be used to solve this problem? Find the solution. /

T UY B g4 B P T o o1 1 SuET fbar S wehan 82 g9 i B
98654.7x726+ 98654.7x274 =?

1. Associative; 98654700 / \Tgad TUT; 98654700

2. Both associative and commutative; 98654700 / ITga Td sHA-faf~8 101 € ; 98654700
3. Distributive; 98654700 / faaRUITHS T0T; 98654700

4, Commutative; 986547000 / FHH-[AF8 10T; 986547000

Correct Answer :-

« Distributive; 98654700 / fdcRuITaHe 0T; 98654700

9) A triangle and a parallelogram are on the same base and between the same parallels. The ratio of the area of triangle and parallelogram
is i

TP YW qY THFTR IgUs UM SMYR TR 9T T FHHR @13 & 9 RE | AyFaun AR aqie d aapasregua_ 7l
1.1:3
2.1:2
3.2:3

4.3:4

Correct Answer :-

10) Foran equilateral APQR, the vertices () and R are (-3,0) and (3,0) respectively, then the 3rd
vertex P is: /

U @Adlg APQRF fAIT, ofif Q d R &AM (-3.0)Td (3.0) &, o ora<r g p &

(03+5)

1.

(0.943)

3.(0,3)
4.(0,4)

Correct Answer :-



11) If% is the mean of Nl observations XisXgXgy  eneonn we Xp.then Z?;l(xl- —X)= o
afg n W&o X, %5,X3, e X BTART X &, @ o, (6 —X)= [

L n

2 X

3.1

4.0

Correct Answer :-

12) The polvgon having interior angles 117° ,63° 52° ,128° is: /

117° 63°,52°,128°3TAR & HIoTdTeT Sgal ¢

1. Concave / 3ddd
2. Regular / 99
3. Convex / 304

4. Convex and Regular / 3¢ AR\

Correct Answer :-
o Convex /31

13) In AABC. D and E are points on AB and AC respectively such that DE|BC, AD = x, DB=x — 2,

AFE=x+2,andEC=x— 1. thenx=__

AABC #, AB3RACW %#AY D3R E dg 38 YR & f& DEBC.AD = x.DB=x — 2,
AE= x+2, dMEC=x—18.dlx=__ |

1.1
2.3
3.0

4.4

Correct Answer :-

14) One angle of a decagonis 90%and all the remaining nine angles are equal Then the measure of

the other angles is: /

UF A F TH HIOT 90° 3R A9 @ A T e §, A 3= Fof i A

150
1.



2.

a5¢e
3.

115
4.

Correct Answer :-

15)  In APQR, PQ=3 cm, QR=4 cm then which of the following is not the side of a triangle : /
APQR #. PQ=3 ##lt.QR=4 ##Y 8. af w=arfafEa # & Fler<h Borer &1 s 7t &

1.7 cm /7 It
2.3cm/3 I
3.2cm/2 &
4.5cm/5 It

Correct Answer :-

o 7cm /7

1 ul
16) If at+b=2ab then the value of —+ & is: /
a

gfe atb=2ab g, ar l+£EFF Al o
a

= |

2.
3.2

4.4

Correct Answer :-

17)  Given AABC=ADEF and AABC#AFDE then which of the following is not true? /
AABC=ADEF 3T AABC2AFDE Tz = &, o Teafeifaa & & sla-ar ggr 7o’ 87

1. CB=EF

2. BC=FE

3. AB=DF

4. AC=FD

Correct Answer :-

« AB=DF



Find who spends second least on fencing from the given table.

Name Shape of land Length of one side
Abhi Equilateral triangle 30m
Sanal square 70m
Mohan Regular pentagon 60m
Suresh Regular hexagon 30m

& 7 aifdsr & Fd W fF a5 o9 WG "6 wA
T FiT Far 87

AT #fF &1 ER T o1 T dEs
3far SGELT EEC] 50 Hiex
e gt 70 #ex
A A g 60 Hrex
g A g 30 #Hiex
1. Abhi / 3{f¥
2. Suresh / =1
3. Mohan / Higq
4, Sanal / 9d

Correct Answer :-

« Suresh /g

19) Inatrangle PQR, £#P=39", 2Q=60" and #R=61° . The largest side of the triangle is: /
uF et PQR A, £P=59°, 2Q=60° 3R +R=61° %1 FBeg=r &1 wesy &=t o197 &

£P

4. QR

Correct Answer :-

20) Find the 3rd zero of the polymomial x*+7x2-2x-14 ,if two of its zeroes are —Zand V2 /

TEUE +7x2-2x-14 T AT YT AT A, ARG 596 & Yedh —Z2 TEV2 B
L 7
2.3
3.5

4.7

Correct Answer :-



1
If x=-3 -v=is the solution of the equation -2x+3v=k then the value of k" is:, /
R 1 .
gfe x= 3 Ud y=— GHIGOT -2x+5v=k & el &, al kK & HWT &

1.-7
2.-5
3.7

4.5

Correct Answer :-

22) Choose the digits from the options to fill the blank space of the following humber so that the number formed is not divisible by 3:

__9745/
frrafafaa Jem & fed ®E # 1R F o e # I sfe) o1 999 o3 Srd 994 arell 9@ 3 4 fwfca T 8

__9745
1.986
2.875
3.768
4.392
Correct Answer :-

e 768

23) choose a set of like terms from 9a2b, 4ab, 4a, 5ba2, 7b2a, 9b, 3ab, 4b. |/
9a2b, 4ab, 4a, 5ba2, 7b2a, 9b, 3ab, 4b ¥ TE US| & TP A=A HI Iaq BN |
1. 9a%b, 5ba’

2. 9a2b, 4ab, 5baZ, 7b2a, 3ab

3. 4ab, 4a, 4b

4, 9a2b, 5ba2, 7bza,

Correct Answer :-

24) ABCD is a parallelogram and E and F are the centroids of triangles ABD and BCD respectively. If AC=12 cm, then EF=?/
ABCD U% THMIGR ag4e & iR E 3R F 550=T: Y ABD 3R BCD & =% &1 afd AC = 12 I g, A EF =2

1.2 cm/ 29

2.6 cm /6 I

3.4 cm /4G

4.8 cm/ 8 Qe

Correct Answer :-

.« 4cm/4 g



25) Ajay has a plot in the shape of a regular hexagon. He buys a plot that shares a side with one of the sides of the hexagon. The new plot is
in shape of a square with area ‘4a%’ m2. Find the total cost of fencing land owned by Ajay at rate of Rs. 453/m? /

3T & URT 9 Yy ATHR & YA BT TH ¢HeT 81 98 T 3= YA &1 ghsT Wiledl @ Wl I9 veys & fFari # & foft v R & @y
fF=TRT WS HT 81 Y YA BT THST TMPR @ orRIeT % 4a2 Hi2 B 3o/ F Wit arell YT & 453 30/ F &R A 918 1 $1
P ANTT T B

1. Rs. 7248a / 72482 T0Y
2. Rs. 9060a / 9060a FUd
3. Rs. 8607a/ 8607a TUT

4. Rs. 7482 / 7482 T4

Correct Answer :-
« Rs. 7248a/7248a 300

26) are logical consequences of the accepted axioms. /

__ ipd Rigidl $ aife afvom g1
1. Conjectures / STTHIT

2. Theorems / er=pa

3. Postulates / fiyeromn

4. Corollaries /mﬂﬁ

Correct Answer :-

e Theorems / g

27) 0,1, 1, 2,5, 8,13, 21, 34, 55... and so on is a sequence named after the mathematician -/
0,1,1,2,5,8, 13, 21, 34, 55... 3R 3| T8 M, THSFEHAR S TR FAMWREI
1. Euclid / Jfaq1S

2. Thales / ¥ed

3. Fibonacci /th—lg_@iﬁﬁ
4. Pythagoras / EI'I—Q'UP'nW

Correct Answer :-

¢ Fibonacci /mﬁﬁ[

28) The price of 12 plates and 8 glasses is Rs. 528. If price of one glass is Rs. 18, then what is the price of 6 plates? /
12 @el 3R 8 el &1 4w 528 U 71 A Uwr e &1 4oy 18 U §, a1 6 Wel &1 ged fha-n 82

1. Rs. 292 /292 308

2.Rs. 192/192 39

3. Rs. 200 /200 303

4. Rs. 384 /384 30

Correct Answer :-

e Rs. 1927192300

29) The area of a circle that can be inscribed in a square of side 8 cm is /



$AM YN A TS T & SAfd A Th qa b1 &T%hd 2l

1 24w sqem /24w adt AT

) 16w sqem /16w gt J&T

3 36 wsqem [36m @I FH

4 6msqem f6m I AT

Correct Answer :-

16T sqem [16m @ar AT

30) The word ‘Jiva’- half-chord from Aryabhatiyam translated into Arabic also means i
ATUEH | Teg ‘SitaT — 816 1S &I RS W sanea A wgadr o afrghm
1. Tan / SOT (%T‘T)

2. Secant / Jb<T

3. Cos / Il (14)

4. Sinus / ST (AT4)

Correct Answer :-

e Sinus /T (13-9)

31) The ratio between any two adjacent Fibonacci numbers (after 3) is about 1:1.6. Thisratioiscalledas______ . /

ot oft ) s P! WRemai (3 & a1) F & &1 SguTd, AWT 1: 1.6 31 ST UM BN Hgl Jral 2
1. Golden ratio / WW

2. Fibonacei sequence / ThaI=a! SHH

3. Golden triangle / TTiee Y

4. Liber Abaci / fefeR 3ferft

Correct Answer :-

« Golden ratio / eSS Q Qq

(8,—2) and (3,—6) s ./

32) The distance between the points

Qg (8, -2)aw (3,-6)FdFIgR___ Bl

\,’Eu:rﬁts f \,"Eﬁré;
\,"Hu.nits ! \.’EEWI?
/371 units / \.fﬁﬁré
4 V46 units / \."EE?I%

Correct Answer :-

/41 units / \.’Hﬁl_é



33) The graphic representation of the equations 3x + 2y = 5 & 9x + 6y = 6 gives a pair of: /
TS 3% + 2y = 5 TG 9x + 6y = 6 F ITAE PRI g 3

1. Intersecting lines / Ufaesd! X@Tq

2. Perpendicular lines / d@ad @G

3. Coincident lines / ST Y@M

4. Parallel lines / TAMIR Y&TT

Correct Answer :-

« Parallel lines / TAMIKR Y&TT

34) The ordinate of all points on y-axis is:/
y-3i&f R Tt faegaif & #ife o @:

1. Any number / aﬂé =

2.0

3.2

4.1

Correct Answer :-

« Any number / ﬁ’iﬁ =T

35) Perimeter of rectangle with length 76 meter and breadth 48 meter: /
76 Hiex @t 3R 48 Hex Al T 3mad &1 IRE™ &:
1. 240 HeR

2. 124 HieR
3.248 HI”
4. 126 iR

Correct Answer :-

. 248 Hic”

36) The number of times a particular item occurs in a given data is called its ./

e e srieT @ T fakiy ue & wIw €11 arell T B 3T PRI R

. cumulative frequency / Tl SRERAT

—

2. variation / T
3. frequency / SRERT

4. class size / 1 SR

Correct Answer :-

» frequency / § IGRd

37) The following sizes of shoes were sold in a day. Calculate the mode.

58,9,5,6,4,9,3,9,3,6,1,9,7,1,2,9 and 5



fFrafafad smeR & 90 te e A 99 1| Igaw $1 AT B
5,8,9,5,6,4,9,3,9,3,6,1,9,7,1,2,9Td 5

1.3

2.6

3.5

4.9

Correct Answer :-

38) A circle has two parallel chords of lengths 6 cm and 8 cm .If the chords are 1cm apart and the centre is on the same side of the chords, and then find the length
of diameter of the circle. /

TH g A 6 AT 3R 8 A} Aa1S BT ) FHHTAR Siar 81 i oftar 1 Jft gr 8 3R ¥ a1 & @Rw @, ot 9 & 9 B daTs J1d B}
1. 12cm/ 12 96

2.10 cm / 10 9t

3.5cm/ 594

4.6cm/6qHT

Correct Answer :-

« 10cm/ 10 9

39) Choose the number not divisible by 3. /
3 3 fafora =16t g areft wen &1 9a9 w1

1. 67890

2. 453627

3. 99999

4. 75286

Correct Answer :-

e 75286

40) Find the additive inverse of integer 97./
quifes 97 BT TRTAP UfdaTd F1d B |
1.79

2.97

3.-97

4.-79

Correct Answer :-

. 97

41) Find the cost of fencing an equilateral triangle of side 64 m at the rate of Rs. 9 per metre. /

64 TieX YeI13HT ITe U THETg FAYS H 9 YA Ft GR A 91§ T St ARTT 91 B



1. Rs. 1728 /1728 30
2. Rs. 2880 /2880 ¥UT
3. Rs. 1862 /1862 300

4. Rs. 1674 /1674 3094

Correct Answer :-
« Rs. 1728/1728 308

42) Behavioral objectives are also known as ./
ARME ST B deuA M AT gl
1. Developmental objectives / famTr s Ie=d

2. Specific objectives / fafry 3%[‘31

3. Mastery objectives / a&lﬁTq\Uf I
4. Performance objectives / ve=A Gaqtl

Correct Answer :-

 Performance objectives / UGRIH 3%525!

43) Reliability of a test means_____./

TP Wien o fayaaarerarfs

1. Accuracy of test scores / TR 3ichi B qﬁ-‘{l@?ﬂ
2. Development of test scores / qﬁ&‘ﬂ 3! BT famr g
3. Consistency of test scores / TRIE Sip! BT FTaar
4. Rating of test scores /Qﬁ&ﬂ 3ihl P I

Correct Answer :-
» Consistency of test scores / qﬂ&ﬂ 3l 1 T

44) Choose the expression which shows the distributive property of whole number. /
guf Wen & faaRoneTe o1 g1 arelt el &1 99+ B |

1. 441x(352x568)= (441x352)x568

2. 241(367+543)=241x367+543x241

3. 831+511=511+831

4. 198+158+217=158+217+198

Correct Answer :-

o 241(367+543)=241x367+543%241

45) is the creator of logarithm. /

AU F FAafar g
1. Cantor/a}??
2. John Napier / S AR

3. Newton / Jc



4. Sylvester / Ryetawex

Correct Answer :-
« John Napier / S AR

46) ‘Folk algorithms’ of mentally performing number operations, also for measurement, estimation, understanding of shapes and aesthetics
prevailed in the ./

RIS U & fpamiia sie dfra &1 wie Taifiew, st % am=, sgam, snefadl sl shui ansr s g, Avafas)
1. Formal Education/3iTaiee fRram

2. Universities / fasfaeera

3. Villages / 7Tid

4. Schools / fa=ITer™g

Correct Answer :-

« Villages /i

47) ‘Bija Ganita’ and ‘Siddhanta Siromani’ are the two important works of .
e i ok Riga RRMWRr & wsayqui ari &)

1. Bhaskara-2 / HI¥h-2

2. Narayana panditha / TR0 ufgd

3. Varahamihira / ER'IE'&[%?

4. Mahavira / W

Correct Answer :-
o Bhaskara-2 / HRP-2

48) The classification of Audio-Visual aids was done by ./
Y-y (3MTSal-fagere) gerel srarfferor gy fsar wmar ami
1. Krathwohl / B

2. Edgar Dale / U8R 3

3. Bloom / &[H

4. Anderson / T&3T

Correct Answer :-

o Edgar Dale / TSTR =d

49) The main logical tool used in establishing the truth of an unambiguous statement is Vi

WY HY P TS B RN FA A ugea g afbs a7l
1. Deductive reasoning / fTETES ab

2. Axiomatic reasoning / TIURIG dd

3. Logical reasoning / dlfdhd dds

4. Inductive reasoning / ATTHATHS dPH

Correct Answer :-



« Deductive reasoning / FRTHATEH® ddh

50) If the co-ordinate of a point is (2, -3), then which quadrant it belongs to? /

i e fig o1 (&= (2, -3) 8, O U fpw agufer I Tefta 82

1. I quadrant /1 ﬂﬁ?ﬂ'-‘ZT

2. IV quadrant / IV a@tﬁm

3. II quadrant / 11 ﬂﬂw

4, III quadrant / III i<

Correct Answer :-

e IV quadrant/ IV EI{‘IUT'QT

51) Number of tickets sold for 5 football matches are 20378, 19872, 20417, 32473 and 23473. Which number is closest to 20000? /
5 Peara Al & fo 99 Y el #1 TBAT- 20378, 19872, 20417, 32473 3R 23473 & | HI=- T=AT 20000 F Fhean &2
1. 20417

2. 19872

3. 32473

4. 20378

Correct Answer :-

« 19872

52) A car takes 2 hours to reach a destination by travelling at 60 km/hour. How.Jong willit take while travelling at 90 km/hour. /

T PR B 60 fBeit/eer & 71fa | ar1 B g Tided RIF aF Ugaa 828w ¢ | oo feuiAier st afa & amm H3a §u 39 fva-n wwg anm|
1. 1 hour 20 minutes / 1 €T 20 fFe

2. 2 hours 40 minutes / 2 €cT 40 fiF e

3.2 hours /2 9¢

4. 1hour 30 minutes / 1 ©eT 30 fie

Correct Answer :-

« 1 hour 20 minutes / 1 ©eT 20 fiFe

53) The circumference of a playground is 44 cm. A circular track of width 4 cm lay outside around it. The area of the circular track is: / T A ﬁa‘ﬁ

PR 44 A7t B 1 30F IRY 3R 187 A 4 A A AieTs aran o gty vy B 1 g9 Uy &1 e 8:

1 T2



54) If the difference between the numbers obtained on dividing a positive number x by 5 and by 3 is 1. Then: /

IS TP YFTHS TSI x P 5 3R 3 V o 37 ) urw Temsi & 9 #713aw 1 8, a:

x x
3175
1.
X X
= =
3 5
2.
x X
===
5 3
3.
x x
—_—===1
3 5
4,

55) Siya attended a mathematical ability test where (+3) marks are given for every correct answer, (—2) marks are given for every incorrect
answer and (-1) mark for every unattended question. Siya scored 80 marks though she got 34 correct answers and left 10 questions. What
was the total number of questions for the test? /

Ry 3 ve nfvrediy ervrar wdieor & YR fRrar wiet vd® T8t SR & AT (+3) 3 AT oe €, e Tad S & Y (-2) 3i@ 2y o € ok ude uy
ST Wy & 1w (-1) 81 R 7 80 3@ wrw g, graifer ST 34 ! SR T 3R 10 wy f31 5o fope BYs Rw1 wdien & weil Ft o T fFHat @2

1. 48 questions / 48 U4
2. 50 questions / 50 U
3. 75 questions / 75 U
4. 60 questions / 60 U¥
Correct Answer :-

» 50 questions / 50 U4

56) Continuous evaluation is meant to emphasize on ./

A qE®T__ WER g1 & R gar gl

1. retesting and feedback of evidence to teachers and students only / W ﬁT&‘lﬁ \ﬁ? @'H}f % 1%112 1&g Pl Eﬁﬁ&‘m \ﬁ? Qﬁm
2. diagnosis of learning gaps, use of corrective measures only / BT HIYTH SARTA! BT FeH, GURTHD UM BT STANT

3. all of the above / IRIad g

4. regulation of assessment in total teaching-learning purpose only / Had H'Q;Uf Rreqor-sifermy & W &1 fafaa

Correct Answer :-

« all of the above / IRIad JH

57) An Autocratic style of teaching is also known as i

Rreror &Y v PR (3TAIHe®) Acht #1 F =g § W} S S g1
1. Informal style / W@?ﬁ

2. Integrative style / Qaﬁﬁ e
3. Student-centered style / BHE-P %(‘I Qef



4. Teacher-centered style / ﬁT&W—% 2(‘1 et

Correct Answer :-

o Teacher-centered style / fQT&ITDF-% %(‘l Ei d

58) y¢3x +3x+....100 ;66 =150, then x= /

ofe 3x + 3x+....100 T =150 %' A x=

1
, 2
1
, 3
3.1
4.2

Correct Answer :-

b | =

59) Negative Reinforcement precedes theresponseand ____ succeeds the response. /
THRIAP JAaa Ufafhar @ Ul arar ¢ 3R wfafsrar & uara g 21
1. punisher / &S &1 (¢S & dTel)

2. prover / I &= aren

3. prediction / A& Y

4. investigator / 3N (SITd P ATe)

Correct Answer :-

« punisher / $8 EIdT (GS A aTeM)

60) p:5+4 = 9(T)

q:5x(-12)<-100(f)

The truthfulness or the falsity of statements we use in daily life is called its

/ p:5+4 = 9(T)

q:5x(-12)<-100(f)

e <fiee & TER GRT ST fPT 91 9T FYT B AAN AN B weT AT gl
1. truth value / I HIT

2. conjunction / FTTSH

3. connectiveness / TSIl (FlGea-4)

4. falsity / STHAT

Correct Answer :-

o truth value / I HIH



